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6. Aballis placed at the bottom of a swimming pool with the water depth of 2m. What's the
apparent depth of the ball by the viewer if he stands by the pool side? The water refractive
index = 1.3. (10%)}

7. Determine the focal length of a plano-convex surface lens having a radius of curvature 10cm
and the glass refractive index 1.5.(10%)

8. Explain the following “Fresnel” terms : (a) Fresnel Lens (b)Fresnel reflection (c) Fresnel
diffraction (15%, 5% each)

9. The primary surface of a mirror type telescope is designed to reflect and converge incoming
collimated beam into a perfect focused spot. Given the radius of curvature of the primary
surface r, use Fermat’s principle to prove that the primary surface of a mirror telescope is a
parabolic surface, (15%)




